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The following linear differential equation describes an oscillating quantity x with
damping constant k (the dots represent differentiation with respect to time ¢):

x+kx+x=0

Van der Pol (1926) replaced the damping constant by a damping coefficient which
depends quadratically on x:

¥+ —1Di+x=0

where ¢ is a positive constant. It is convenient to use Liénard’s transformation
(Liénard, 1928; Minorsky, 1947):

y=Jxlc+ x*/3 — x
and obtain the following pair of differential equations:

*=cly+ x — x*/3)

y = —x/c
The BVP model is obtained by adding terms to these equations as follows:—
x=cly+x—x/3+2) (1)
y=—@kx—a+ bt/ (2)
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Recently, FitzHugh ingeniously simplified the H-H
equations in case of a “space clamp,” making use of an
analog computer, and proposed the following BVP
model (Bonhoeffer-van der Pol model).?
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